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(a) 

(c) 

Write the 
numeral and number name that each diagrarn represents: 

LL L T.Th T H T O 

Numeral +6,36,324 
Number Name terty sadobh 

T.L L T.Th T 

Number Namety fouh lakh thosg 

siL thousand the hndud si thewan.fc hundd 
tuenliy towr 

Numeral 6339,304 

tour. 

EXERCISE 1 

teur 

(a) 76,45,321 

H T 

(b) 70,25,384 

(c) 81,52,025 

(d) 38,41,921 

(b) 

Numeral 44,36,535 

(d) 

TL L TTh T HT 

Numeral 

Number Namesinty thu lakh 

thinlg ninu thousand the hurdel nia thous 

3 

thilg five 

2 Write the number name for each of the following numerals: 

)) 

dhu hurdnd 

T.L L T.Th T 

1nty si Jabh forty fae thousand 

46,39, 4 24 
Number NameNinelgsa lakh hils 

H T 

tusetiy 

Ihointy eighty labh foty 
nine hindrd twy 

fne. 

hundd 

fie thouad 
Jhu hundud eighl fous 

Dns. akh, 4tyt thosand 

IN theusand 



(e) 27,00,947 

0 10.35,455 Ten akh hily five theusand 

3 Write the numeral for each of the following number names: 

65,04,152 
(a) Thirteen lakh twenty three thousand five hundred twenty eight. 133,5 28 

45,60,500 

iC4,30,005 
(b) Sixty five lakh four thousand one hundred fifty two. 

(c) Ninety five lakh sixty thousand five hundred. 

(d) Seventeen lakh thirty thousand and five. 

(e) Thirty three lakh twenty four thousand eight hundred ninety six. 33.4,846 

() Ninety five lakh seventy five thousand five hundred fifty five. Y5,15,55S 

4 Give the expanded form: 

(a) 17,96,543 |00Do 00+t0000O + 
?0000+6oootS0ot40 t 

(b) 
66,75,250ooo000tooo0o0+Bo O b0t S00 t OO 

(c) 50,00,000 

tS0+0 
GO,00000 to 

(d) 24,65,700 O00 000 t 400000t 60 000tsoo0+ 7oO 

(e) 38,06,243 3o00OÒO +800000+0t6000 + 00 

Jot3 

5 Give the compact form: 

(a) 10,00,000 + 2,00,000 + 30,000 + 6,000 + 800 + 70 + 0 36840 

(b) 40,00,000 + 5,00,000 + 20,000 + 1,000 + 800 + 90 + 0 

(e) 60,00,000 + 4,00,000 + 30,000 + 2,000 + 300 + 50 + 7 

4s,21,890 
(c) 10,00,000 + 2,00,000 ++ 60,000 + 0 + 700 + 40 +0 

(d) 30,00,000 + 1,0,00D + 20,000 + 6,000 + 100+ 10 + 8 31,26, I1 8 

4 

1260, ho 

6u,32,3S 



6 
Give the place value of 7 in : 

+00000 (a) 27,35, 942 

(c) 50,07,065 

Number 

(a) 24,26,369 

7 Write the place value of the underlined digits in the following numbers 

(c) 15,16, 128 

(e) 82,18,157 

(g) 26,78,920 

(a) 9,43,072 

(c) 87,32,106 

(e) 73,24,560 

(a) 82,31,700 

(c) 9,54,619 

(e) 43,21,789 

Write the predecessor of the following numerals 

(a) 5,93,210 

Place Value 

(c) 4,12,316 

80 00 000 

(e) 7,32,610 

10 Fill in the bOxes using >, < or =. 

9,43,04L 
832405 
43,3u.551 

(a) 98,76,541 

q Write the successor of the following numerals : 

$2,31,40l 
9,54,620 
43,190 

11 Write the missing numbers. 

(b) 75,14,503 

4,95,210 

(d) 16,70,812 

7,32,61 0 

(b) 

5 

Number 

(d) 18,18,090 

40,36,275 

() 27,10,468 

(h) 25,27,842 

(b) 28,32,417 

(d) 17,34,581 

(b) 7,86,543 

(d) 34,57,988 

4,12,099 (d) 3,23,456 

(b) 3,81,472 

fO 00 O00 

Place Value 

40 

5o0,000 

lt,345&O 

86,54 4 
34S4,989 

3,81,582 

2,23,456 

9%,14,542 986543 9,6,4.98,4SSS 98,76,546 
(b) 45,69,894 45,49,8aS.45,69,36. 4Sé9,84+ 4S,69,18 45,69,899 
(c) 73,16,897 734,AR. 1314,899 160 o 131490! 73,16,902 
(d) 12,46,785 146,1B6. 2,46,81. (R,46,188 1R,46131 12,46,790 
(e) 9.67,998 q61,994. 9,61,000 9,6,0.ol 6002.9.68,003 
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